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First Terminal Examination, 2017-18
Class- XII
Chemistry

Time allowed: 3 hours. - : Max. Marks: 70

General Instructions:
1. All questions are compulsory.
2. Answer should be brief and relevant.
3. Marks are indicated against each question.
4. Use Log Tables, for calculations, if necessary. Use of calculators is not
allowed.

A SRR fritadiil ..
Q1. Suggest the most important type of intermolecular attractive interaction
between NaClO4 and water.

"

Q2. Why does the conductivity of a solution decrease with dilution?

Q.3. Cutof p-cresoi and p-nitrophenol, whu:h is more acidic and why?

Q.5. How many lattice points amﬁe:re inone u

molality of the solution and wh:s
solution?

Q7. The electron gain enthalpy of
that of chlorine, yet F2

it RN

Q.8. Writé Edl&‘étlﬁ"

Q.9. From the given cells:
Lead stor%e cell,
a) Which cell is used in
b) Which cell was used in Ag

Q.10. What happens when — (Write &



S — ]

a) Ethanol is treated with €
b) Ethyl chloride is treas

Q11. a) Why does LiCl acqulmplﬂ: colour w
b) What change occurs
¢) What type of semico

2n heated in lithium vapours? 3
with CdCl,?
then Silicon is doped with

boron? g

Q12. 3.99 of benzoic acid dissolved 149g of ressmn lﬂ
freezing point of e the va rn.-‘ EH%f € H wu :
nature of solute (as ated). 2
(Given: mnlarmassnfbamkacrd is 13 ol™ and K¢ for hehi&%“fs'
4.9K Kgmol™).

QI13. The rate constant of a first ouﬂa' -_

when the temperature
of activation.

(log 2=0.301, log 3 _ . | g
Q14. a) What are disinfectants? Give an m--:' = 5 34

b) Give two examples of macromalecules that are
targets. v =
¢) What are anionic detergents? Give an ¢
QI5. Give reasons for the following:
a) Ethyl iodide undergoes Sy2 faster 1
b) () - 2- Butanol is optically inaci
C-X bond in haloarenes is smalle 1

% An aqueous selution of copper su
platinum electrodes using a curre

mass of Cu= 53 59 mc-l'i}
u@ H

" copper depos;ted at the cathode,

Q17. a) On the basis of VSEPR theory, predict
b) Draw the structures of XeF; and | g
¢) complete the equation: SiQ,+6HF — 4

Q18. a) Write the mechanism of hydration of e
b) Explain Reimer- Tiemann reaction with



Q.19. a) A reaction is of second order with respect to a reactant. How is its rate 3
affected if the concentration of the reactant is reduced to half?
b) The rate constant for a first order reaction is 60S *. How much time
will it take to reduce the initial concentration of the reactant to ﬁ th of

its initial value?

Q.20. a) What are azeotropes? What types of azeotrope is formed by solutions 3
showing positive deviation from Raoult’s law.
b) On mixing two liquids, volume of the resulting solution decreases.
What type of deviation from Raoult’s iaw is shown by the resulting
solution? What is the change in temperature observed after mixing the

two liquids?

c) What is the effect of temperature on the. s,%zdaﬂ}mﬁg Qs in a liquid?
Q.21. How will you convert the following:- 3

a) Aniline to phenol “

b) Progl-ene to 1-Propanol
c} Anisole to 2-methoxytoluene

(]

Q.23. Mamta, a housewife, lives in Sonepat (Ha
is rich in dissolved salts. She uses ordinary
clothes and she finds that soaps are not ve:
clothes. One of her neighbours, Shilpa, is &
suggested to her to use Syntheﬁg%‘ rge

Answer the following questions:
a) As a science student, why did
detergentsT _

ive one chemical res
¢) What were the \Eiﬁéﬁ -

Q.24. a) Complete the following chen
i) AgCl (s) + NHz(aq) — -
||]F4[S) +NaOH(ag) + H,0(£) =
b) Give reasons for the following observati
i)H5S is less acidic than HTe.

i) XeF; has a linear shape and not a bert struct
i) SFg is less reactive SF4.




Q25.

b)

b) «

q

) Bromination of ph

Complete the

i)

i)

i}

i)

iii)

Write the "’i'r&ab foll _

i) &H jCHgCD};.:D
.

iii}

palrs of compnundr

i) shanol and phenol

i) Propanol and 2-meth

Write the formula of reager
i) Hydroboration of prapen

Arrange the following in th
indicated-

i r' 1
Write the mechamsm {usm&
following reaction:-

% @H Cﬂz,%ﬂ;




Q.26 a) Wlmthe anode and cathode reactions and the overall reaction

occurring in a lead storage %ttery

copper-silver cell is set up. ’i‘he copper ion concentration is
A The concentration ﬂfﬁvﬂr ion is not known. The cell
al is 0.422V. Determ@ the concentration of silver ions in

A9 /Ag = 0.80V. E?*;Cu: 0.34V)
¥
" OR

L. |l L
a) Explain the chemistry of ru of iron with the necessary
chemical equations. -

b) Zine rod is dipped in 0.10M
dissociated at this dilution at 2
potential.

Given: E%nzm ?

5



